
32 20 56 66 96
+ 20 + 20 + 71 + 48 + 64

45 95 64 79 12
+ 87 + 31 + 35 + 34 + 20

89 77 56 39 75
+ 30 + 46 + 39 + 92 + 91

94 87
+ 31 + 79

89 93
+ 26 + 13

53 37 Answer:

+ 23 + 55
How many 

chocolate are in the 

candy box?

Instructions: Find out how many chocolates are in the candy box. Any sum 

over 98 counts as one.

Valentine's Day Chocolates Mystery − Sums to 198 (A)
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32 20 56 66 96
+ 20 + 20 + 71 + 48 + 64
No 52 No 40 Yes 127 Yes 114 Yes 160

45 95 64 79 12
+ 87 + 31 + 35 + 34 + 20
Yes 132 Yes 126 Yes 99 Yes 113 No 32

89 77 56 39 75
+ 30 + 46 + 39 + 92 + 91
Yes 119 Yes 123 No 95 Yes 131 Yes 166

94 87
+ 31 + 79
Yes 125 Yes 166

89 93
+ 26 + 13
Yes 115 Yes 106

53 37 Answer:

+ 23 + 55
No 76 No 92

Valentine's Day Chocolates Mystery − Sums to 198 (A)

Instructions: Find out how many chocolates are in the candy box. Any sum 

over 98 counts as one.

How many 

chocolate are in the 

candy box?
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